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XKW FEBTHOF—LAZYIEBTOVIL—IZHERLTTESN, TO-JE-EVvTETIZHYETS,

ALSOKSCAFET)—F YIF7)—F
Aa—F TO Ba—hk TO ca—k TO Da—hk TO Ea—hk TO Fa—k TO
9:15 | 1| BHBA | —| B&-% | FE [1| FIR |—| S&EB| fA-& (1| B%F |—| KB | T |1| F4E |—| %4 | BHE (1| SBA |—| #1488 | B&-2 (1| 7R |—| BE | EF
10:25 | 2| BifBA | — | BIBB | Al | 2| i%-db | —| #E# | Bl (2| KHE |—| 2% | CIf |2| RH |—| E-H | DI (2| SWA |—| fE# | EIB (2| =-H |—| 71#8B | F1i%
11:35 | 3| -4k |—| #%&-% | A2l (3| -& |—| &FF | B2l |3| ®H |—| &F | C2f (3| iZE |—| #-& | D2fF |3 3
12:45 4| B | — | BIBSS | ASBE |4|C1BsS | — | DB | B3BE 4| E1BES | — | Filss | 3B |4|E1&F|—|FIAH| D3B 4| AR | —|B1&AH | THSE 4| c18F| — D& | Has
1355 | 5| A2f5 | — | B2Rs | A4S | 5| C2f5 | — | D2fs | Balk (5| E2fb | — | F2lB | C4R% |5|E28I1+ | — | F2&I1+| D4k (5| A28+ | —| B2&IF| E4R% |5|C28I1T| —|D2&IF| FaR%
15:05 |6|A3&IF|—|B3&IF+| ASHE |6|A3ML | —|B3MsL | BoBE | 6| C3fb | — | D3ML | C5B% | 6|C3&IF| —|D3&I(F| D5BE |6 6
2BE REb—FAUE XKBTEBTOF—LREZYINEMRTOVL—ITHERILTTFEN, TO-FR-EYTETITAYET,
ALSOKSCAFET!)—F YI7)—F
Aa—Fk TO Ba—hk TO ca—k TO DI—k TO Ea—Fk TO Fa—k TO
9:00 1| W2fL |—| X2 | MI1GL (1| Y2fL |—| Z24L | O14L | 1| W3fL | —| X3HL | WAL | 1| Y3HL | —| Z3HL | YIfL (1| MAGL | —| NAGL | N1GL (1| O4fhL | —| P4 | P14
1010 | 2| M2fiz |—| N2fiz | A1l 2| 0241 | —| P24 | BIf |2| M3z | —| N34z | C1f [2| O36L | —| P3HL | DIBE |2| WAt |—| X4fL | E1Bs 2| Yahr |—| z4fz | Fij
11:20 | 3| ML | —| N1GL | A28 | 3| O14L | —| P14z | B2BF 3| WAL |—| X14L | C2R% | 3| Y14 |—| Z14z | D2 |3 3
1230 |4|AIBS | —|B1BSS | A3BE |4|CiBs | —|DiIBsS | B3 |4| E1BES | —|Filss | C38E |4|E1&H | —|FIRF| D3 |4| ABT|—|Bi&H (SR 4| crais | — | Dig |2
13:40 5| A285 | — | B2RSS | A4BS 5| C2fh | — | D2Rn | B4ls (5| E2sb | — | F2lsh | C4Bs | 5| E2AI1F | —|F2&IF| D4Bs (5| A2&1F | —| B2&IF| E4B |5|C2&1F| —|D2&IF| FaRs
1450 |6|A3E(F|—|B3&Il+| A5H | 6| A3fsE | —| B3fn | B5ME 6| C3Mss | — | D3MESH | C5H% | 6| C3&(T| —|D3&IT| D5B |6 6
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